THISF 6 BEEKERERBEFNRERR

X 5 -1 H O FE FT B e (@6 (@namn
. BXHESE 1 |EE-2FEFRVUEBERDENR., MBICERIZHLD, 134 14| 104
2 |EEFICRETSESEAEHEDEINRVERICERIIELID, 133 3] 23
J|EHEEEDMERVINBREAICERILHLD, 134 8 6
4 |EFEDKRE-ERBERDAE., INRFRE A (LB, 134 17| 12.7
5 |RFBEDKE-EBIRER OGRS, EEEEIED, 134] 16] 11.9
6 FHEBEIZZERIGOWVDD(RE-HE - BESEFIRIELDFTEEDLN 65 I 15
EEE), (RttKEIZRS, ) '
1 | EXAEYEESEDEEGEEHLUTA (B OFIRASE) TELH, 109 0 0
8 |BEEL. EXDEELEFITLLD, 109 0 0
0. /REFHD 1 [EMEEEHRMNFEIEICEERSN ., ZRESNTLSD, 58 1] 1.7
B RmEE 2 | EFESHHRESFIRELTLDD, 9 0 0
3 (EEEESIRMNABEYICEAZIN, RESNTLVSD, 132 2l 15
4 |ERBIERNEBESN BUICEAZINTVSD, 132 2l 15
5 |EEREERVEEEBREEFIRBELTOLSD (REKEIZRES, ), 88[ 13| 14.8
. ETEESE 1 EBTEEREATEDLNTLSD, 131 4 3.1
O | 2 [BEFEHEEMNEEIN, BHESNTULSH, 102 0 0
I ETEEBICHENETEZ(TIETLSD, 100 13[ 13
4 |BEFEICHV HBELEGREZHEERLTLSD, 109 0 0
ols BFHEFIEEEEL-BFEE. RIFFMEZED. CNEEICEFEY A ERE 1350 18l 133
N, KB, BERO-ODFENETIICEEINTLVSD, '
6 BIEEICLDEEZTITOTLVELD, 109 0 0
O | 7|2FDERERVZDEER. REFILEIED, 135] 23] 17
8 |EFFE N H B HIR) DIER - REFILEIED, 134 6] 45
9 CE{TERERETICKDEBRUVZDREF ERITEED, 102 8l 78
10 :EITIEREDER. 5=, BT, REFEILEIED, 32 5[ 15.6
O |11 %i‘%é!:iﬁééﬁii%@ﬁéﬁﬁ{%!:uz\gm‘a%;‘ﬁ%’&ﬁo'cuéb\o 134 14| 104
O [12|¥¥FED:EGTE KL THAEIEEZF1ToTLVSh, 89| 43| 48.3
O [13|EEDEiIEEICR L TEEZMEZITSETLNSD, 91| 25| 275
V. ElREEE 1 | BREEERENTEDLNTINSH, 106 0 0
O |2 |BlieBEENEFTIN, BHSN TS, 104 1 1
3| EEEEFICAENETERITIETLDL, 101] 20| 19.8
4 | BEEABREEFERL, ChICEDEEREEYIZIT-oTLNDD, 134 3] 22
ols TEHIAREEZERL. ChIZE DS EIEICAR-BEEITL. SREFIR 134 21| 157
BEHNREFESINTLSD, :
V. 7EEE 1 |BERAAFIESN, BHINA TS, 78] 0ol 0
2 |36 EMN TSN, BHINTLSH, 98 1 1
3 @, KB 7 EIC DL TEEMEEEVLD GEEREEREIZ R . 110 4] 36
O | 4 |FfEDRBEZEZERL. TDEHZK - RENETIZIN TS, 133] 30| 22.6
VI. iEEfE# 1 [FRRR-ERRKEICMALTLS D, 128] 10| 7.8
2 |BRERR-EEESRRICMALTLSD, 130/ 18] 13.8
VL. ’Ei"“?% 1 BHRETASAVCOEREITEIIH, 109 9| 83
IR A
WK [EFE R EHE X 5 A B C D E FDih =1
B B 44 36 14 7 4 0 105
o HEHESA) 1 0 0 0 0 0 1
¥ OREEREER 0 2 1 0 0 0 3
2% Al (FRBRICKDIEFEREAE) 0 0 0 0 0 1 1
2% A(ZREERONERESR 0 0 0 0 0 0 0
B AlGGmRBDEMREESE) 0 0 0 0 0 25 25
& &t 45 38 15 7 4 26 135
b= 33% 28% 11% 5% 3% 19% 100%




